JlorapmdM npousBeaeHUA
ABYX (PpYHKIIUH



I“ - CeoWcTBa norapmdomMos

CeBonctBa norapucoMoB BbiTEKAIOT U3 CBOUCTB
CTeneHu:

CBOUCTBA CTEeneHu:

1.a° =1
2.al=a
3.a*-a’ = a*t?y
a* :
4.5=a" Y




CsoucrBa Jjorapu¢gmMoB

log x+log  y=log (x-Vy),
a)0, x>0, v)0,a =1

T. €. JJorapu(M Npou3BeAeHHS PAaBEH CyMMe
JgorapupmMoB CoOMHOKUTEJIEH (B3SITBIX I10
TOMY K€ 0CHOBAHHIO).

loge 2 + log, 3=1og ((2:3) = log, 6=1




%, log,x+log,y= logy(x-y

a)log,,4 +log,, 36 =log ,(4 :36) =
=log,, 144 =log,,12° =2log,,12 =2 1 =2



11pou3BOIHASI IPOHU3BE IECHMS

(Fx) g®) = F(0g@) + fF()g' (%)

[Toumep:

f)=x% glx)=x+3

(xz(x + 3)), — (xZ)'(x + 8 + xZ(x +3) =

=2x(x+3)+x%-1=2x%+6x+x%=3x%+ 6x




log,a:log,x=1

a)log.5 -log. 9 =log., 5 -log. 3% =
=2log.,5 log., 3 =2 1 =2

log, x" =n-log, x




AomawiHAanA
pa6oTta
Bbruuncaure:

1. logs 2 +1og;s 9
2.log, 8 +log, 32
3. logs, 2 + log,, 2
4.1g 40 + 1g 25




